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CHAPTER 4
CASE STUDY: STER-KINEKOR THEATRES

QUESTIONS

1. Identify the different segments Ster–Kinekor targets?
2. Which bases for segmentation were used for each segment?
3. For which LSM group(s) does the Junction and Classic respectively cater for?
4. Which approach to target marketing is Ster- Kinekor making use of? Why?
5. Which segment presents a niche market for Ster-Kinekor?
6. How is Ster- Kinekor positioning itself?
7. Which approach to positioning do you think Ster-Kinekor is making us of?
Write a positioning statement for one of Ster- Kinekor’s segments.

8. DISCUSSION QUESTIONS: 
1. Explain why it would be advantageous for Safari 4 x 4 an outdoor equipment retailer to segment the market.

2. What criteria should the market segments identified by Safari 4 x 4 adhere to?
3. Discuss the bases of market segmentation that would be used to segment the market for Safari 4 x 4? Motivate why you chose these bases.
4. Explain how a clothing retailer can evaluate the attractiveness of a potential target market.Mr. Leather plans on entering the handbag/briefcase market. Compare the three different approaches to target marketing that they can make use of.

5. Create a positioning map for the motor car industry by making use of your own variables. Why did you choose those specific variables? Who share the same position? Which quadrant has the least competition?

MULTIPLE CHOICE QUESTIONS

1. Which one of the following statements is true about market segmentation?

a)
It is possible for organisations to satisfy the needs of all consumers

b)
The consumers in a market segment must have different characteristics

c)
One message should reach all market segments

d)
Consumers in a market segment will behave different to consumers in other segments

e) Market segmentation is dividing the market into heterogeneous groups of customers

2. Which one of the following statements is not a merit of segmentation?

a)
Better serving customer needs

b)
Limited market coverage

c)
Stimulation innovation

d)
Higher market shares

e)
Targeted communication

3. Tab vs. Coke taking away market share from each other is an example of:

a)
Firmographics

b)
Innovation

c)
Segmentation

d)
Positioning

e)
Canibalisation

4. Which of the following is not a criteria for segmentation?

a)
Durability

b)
Accessibility

c)
Perishability

d)
Identifiability

e)
Accesibility

5. A study of the human population is known as:

a)
Firmographics

b)
Geographics

c)
Pshycographics

d)
Demographics

e)
Behavioristics

6. Consumer markets differ from business markets because:

a)
Larger quantities are bought

b)
Fewer in numbers

c)
Product offerings are evaluated in great detail.

d)
Purchase procedure is complex

e)
Personality influences buyer behavior

7. A study of business markets is known as:

a) Geographics

b) Firmographics

c)
Pshycographics

d)
Demographics

e)
Behavioristics

8. The selection of one market segment after the heterogeneous market has been dived into a more homogeneous market is known as:

a) Undifferentiated marketing

b) Concentrated marketing approach

c) Multi-segment marketing approach

d) Mass customatisation 

e) Segmentation

9. Sun International provides accommodation and relaxation to their business customers as well as families and VIP’s, this approach is known as:

a) Undifferentiated marketing

b) Concentrated marketing approach

c) Multi-segment marketing approach

d) Mass customatisation 

e) Positioning

10. The model T Ford motorcar is a good example of:

a) Undifferentiated marketing

b) Concentrated marketing approached

c) Multi-segment marketing approach

d) Mass customatisation 

e) Re- positioning

11. The process of ascertaining how a product, service or company is perceived in the mind of customer is known as:

a) Segmentation

b) Target marketing

c) Positioning

d) Re-positioning

e) Customatisation

12. Graca wine is positioned as a wine to be enjoyed by everyone at all kinds of fun situations; they are using a -------positioning approach.

a) Attribute

b) Benefit

c) Application

d) Quality

e) User

13. Scotts Whisky positioned for the “discerning drinker’, is using a --------- positioning approach.

a) Attribute

b) Product category

c) Application

d) Quality

e) User

14. Dove soap focus on inner beauty and self-esteem in contrast with other soap that focus on idealizing external beauty. This approach of positioning is referred to as:

a) Re-positioning

b) De- positioning

c) Under position

d) Over positioning

e) Doubtful positioning

15. A positioning statement that is fuzzy and where there are not distinct features or benefits, are usually guilt of:

a) Doubtful positioning

b) Confused positioning

c) Over positioning

d) Under positioning

e) No positioning
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